Unit 2: Homework 3




Name:
Steps to the correct quantum model of the atom
1. What was DeBroglie’s contribution to the development of the correct model of the atom?

2. What is the Heisenberg uncertainty principle?  How did it explain WHY Bohr’s model was incorrect?

3. Once Heisenberg explained why Bohr’s model was incorrect, what did Schrodinger do to correct the flawed model?

Summarize Schrodinger’s “orbitals”

	Energy level   

       (n)
	Orbital type
	Shape of orbital
	Number of orbitals per type
	Number of e- in orbital type
	Total number of e- in energy level
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What is the same/different about an s orbital in the 1st energy level and one in the 4th?
